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Credit
Prepaid lnsuri;nce $ 3,860 -
Stationery “ I 2,800 T ﬁ
Equipment 1 25,000 j
Accumulated Deprcciation-—-—Equipment $8,400
Notes Payabler | 23“6_00
Unearned Rent Re;venue +6,300
Rent Revenue R Jr(:'v*o,,OOO
Interest Expense ~~ —-0-
Salaries and Wages Expense 14,000

An analysis of the accounts shows the following.

1. The equipment depreciates $250 per month.

2. One-third of the unearned rent was earn durin

g the quarter.
3.

Interest of $500 js accrue on the notes payable

4. Stationery on hand tota] $650.
J;

Insurance expires at the rate of $300 per month.

Required: Prepare the adjusting entries at Dec 31.

Presented below are selected accounts of Aramis Com Pany at December 31, 201>.

Finished Goods $ 52,000

Cost of Goods Sold $2,100,000
Unearned Revenue 90,000

Notes Receivable 40,000

Equipment 253,000 Accounts Receivable 161,000
Work in Process 34,000 Raw Materials 187,000
Cash 42,000

Supplies Expense 60,000
Equity Investments (short-term) 31,000

Allowance for Doubtful Accounts 12,000
Customer Advances 36,000

Licenses 18,000

Cash Restricted for Plant Expansion 50,000 Additional Paid-in Capital 88,000

Treasury Stock 22,000

The following additional information js available.
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1. Inventories are valued at lnwvr-nf-cu&l-nr-umrkr

Lusing LIFO, ;
at cost. Accumulated depreciation, computed on a straight-line basis, is $50,600.

have a fair value 0f $29,000. (Assume they are trading securities,)

are due April 30, 2014, wirl, interest receivable every April 30. The notes bear
stat 6%. (Minr: Accrue interest due on December 31, 2012.)

X ' 2. Equipment is record

3. The short-term investments

4. The notes receivable

intere

5. The allowance for doubtful accounts applies to the

accounts receivable. Accounts receivable of
$50,000 are pledge as collateral on a bank loan.

0. Licenses are recorded net of accumulated amortization of $14,000.
7 Trcasuly stock is record at cost.

Required: Prep

Q3. | Presented below are the assumprion

5. Historical cost principle

9. Cost
constraint

2. Going concern assumption 6. Fair value principle 10.
Industry practices

3. Monetary unit assumption 7. Expense recognition principle
4. Periodicity assumption

8. Full disclosure principle
Raquired:

revenue recognition principle.)

(c) Ensures that all relevant financial information is report.

(d) Rationale why plant assets are nor re

uring stick” used to report on financial

SECOND: COST and MANAGEMENT ACCOUNTING :

| s
Q4. | Select the best answer to each question

performance.

1-Inventoriable (i.e., product) costs that have become expenses can be found in:
a) Period costs.

b) Selling expenses.

c) Costof goods sold.

d) Administrative expenses.

2- Malcolm Company uses a weighted-average process costing system. All materials at Malcolm are add




the sum of:
a) Units in ending work in process and the units started.

b) Units in bcginning work in process and the units started.

c) Units in ending work in process and the

d) Units in beginning work in proce
3- Under which of the

units started and completed.

ss and the units started and completed.
following conditions will the FIFO me

thod of process cosl'ing result in the
amount of cost being transfer to the ne

xt department as the weighted-ave
a) When the beginning and ending inve

same
rage method?
ntories are cach fiﬁy percent

complete.

b) When there is no beginning inventory,

c) When there is no ending inventory,

d) When units in the beginning inve

ntory are all completed and transferred at the same time.

4-In a job-order costing system, the application of manufacturing overhead would be

recorded as a
debit to:

a) Raw Materials inventory,
b) Finished Goods inventory.

c) Work in Process inventory,

d) Cost of Goods Sold.

3- Over applied overhead would result if:

T S e

e S SSp——— 1

1. Breakeven Point.

2. Iffixed costs are 20000%, what contribution margin are?

3. Whatare units required to target profit after taxes 200008.

Net Incom (profit/ Loss)
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a. Compute the effect on operating income if Y is dmp.

b. Compute the total
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ai)ililjr of 1

w Manufacluring Company is rcviowing the profit

potential of several proposals for improving the profilability of the product mix,

and other data follow:

o Total Product W Product X Product Y Product Z
Revenues <ooeeeeeeo $62,600 $10,000 $18,000 $12,600 $22,000
Cost of goods sold--------..... 44,274 4,750 7,056 13,968 18,500
Gross margin--—---———_.____ 18,326 5,250 10,944 (1,368) 3,500
Operating costs ~—-mveeeeeeeo... 12,012 1,990 2,976 2,826 4,220

Operating income------——.... Rodld_$3260 57968 $(4194) (70

Units sold---eemeeee 1,000 1,200 1,800 2,000
Selling price--—-eeeeceeeeeo___ $ 10.00 $15.00 $7.00 $11.00
Variable cost of goods sold per unit $2.50 $3.00 $6.50 $6.00
Variable operating cost per unit $1.17 $1.25 $1.00 $1.20

Is increased

to 2,500 units (to be sold at $10.50 each).

An income statement

THIRD :ACCOUNTING INFORMATION SYSTEM and ACCOUNTING SYSTEMS

Q7.
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Q8. | Make mal'(‘hing between the list in

i e R e e

e e I N N TR i s et s st

the right column and the left column?
g

1. external user of AlIS A- Avoid

2. useful information B- innovation

3. Way to respond risk C- planning

4. balanced scorecard dimension goal D-reliable

5. DBMS Languagc E- def ining

6. activity of Accountants

7. AlS objective

F- secure

Q9. | Choose the correct answer:

1. For good internal control, who should approve credit memos?

a-Sales manager b-BilIing manager c-Controller

a-Vendor invoice b-Purchase order C- Purchase requisition d-Disbursement

voucher
3. Forgood internal control, who should sign checks?

a-Account payable  b-Controller c-Purchasing agent d-Cashier

4. Which activity is part of the sales order process?
a-Setting customer credit limits b-Approving sales returns c-Checking customer credit

Preparing a bill of lading

5. What réport expresses goals in financial terms?

a-performance report b- financial statement C- budget d- chart of accounts

G-customer

d-Credit manager

d-

FORTH :AUDITING and INTERNAL CONTROL

Q10.| Select the correct answer for the questions:

An auditor is testing internal control procedures that are evidence on an entity's vouchers by

matching random numbers with voucher numbers,

avoided voucher, that voucher ordinarily should be replaced by another voucher in the random

sample if the voucher:

a. Constitutes an exception.
b. Hasbeen properly avoid.

c. Cannotbe located.

d. Represents an immaterial dollar amount.

.

on key factors and assum ptions that are:
a. Consistent with prior periods.
b. Similarto industry guidelines.

c. Objective and not susceptible to bias.

d. Deviations from historical patterns.

In evaluating the reasonableness of an accounting estimate, an auditor most likely would concentrate
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3. M;Vhich of the following computer-assisted audit ing techni

e e - ———

ques allows fictitious and real trans

“operating personnel be

actions

to be process together without cliem ing aware of the lestlng process?

a. Integratcd test facility.
b. Input controls matrix.
C. Parallel simulation.

d. Data entry monitor.

4. An auditor should design the written audit plan so that

a. All material transactions will be select for substantive testing.

b. Substantive tests prior to the balance sheet date will be minimize.
&

b. Specialized accounting principles of the client's industry.

€. Disagreements with management as to auditing procedures.

d. The uncertainty inherent in applying sampling procedures.

Q11.

Q12

Explain scientific and practical

stage to evaluate internal control

system and showing its affect in the
opinion and procedures of external auditor.

Auditing objectives are many and developed through many years, Discuss the effects of these

developments in the assumption of auditing and professional behaviora

| bases and auditing standards
and how are these reflected in this objectives?

]
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